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SEEN

S B F - Fr R ILRISE LR GEH)
AL« FT, %)

2543 A # k2643 B # k2743 B #
B () () W (BrHE)

B R | fpOvR SEH Rk | o x| R | O
{5 MRk 23, 375 50. 0 0.9 23, 805 50. 1 1.8 24, 280 50. 4 2.0
{1 |J5 &R e 15, 430 33.0 4.2 16, 405 34.5 6.3 16, 190 33.6] A 1.3
BE [ H1R 7 A 2,218 4.8 5.0 1,741 3.7 A 21.5 2,670 5.5 53.3
Gl [T 5, 696 1222 A 0.7 5,572 1.7 A 2.2 5, 060 10.5] A 9.2
aEF 46, 721 56. 4 2.0 47,525 58. 6 1.7 48, 200 59. 5 1.4
R |EE AR TE 10, 744 40.4f A 7.0 10, 355 40.8] A 3.6 10, 920 43.0 5.4
% (1 ahimoe 6, 008 22.6] A 7.5 6, 106 24.1 1.6 6, 260 24.6 2.5
E’E R FE A 7,079 26. 6 0.6 6, 607 26.0f A 6.7 7, 080 27.9 7.2
£ |5 2, 768 10. 4 41.5 2,316 9.1] A 16.3 1,140 4.5 A 50.8
o | &R 26, 601 32.1] A 1.6 25, 386 31.3] A 4.6 25, 400 31. 4 0.1
{5 MR e 6,013 63.4| A 48.2 5,535 67.4] A 8.0 5, 140 69.5[ A 7.1
Z |G &R 5 871 9.2 A 8.9 773 9.4 A 11.2 710 9.6/ A 8.3
D |ENHR FE M 2,574 2711 A 4.7 1,867 22.8] A 27.5 1,510 20.4] A 19.2
fit T 54 25 0.3] A 1.4 30 0.4 20. 0 40 0.5 32.7
Xl 9, 484 11.5] A 38.0 8, 207 10. 1] A 13.5 7, 400 9.1] A 9.8
{5 MR e 40, 133 48.5| A 13.4 39, 696 48.9] A 1.1 40, 340 49.8 1.6
| ST 22,310 26.9 0.3 23, 286 28.7 4 23, 160 28.6] A 0.5
= |ERE 11,873 14.3 0.2 10, 216 12.6] A 13.9 11, 260 13.9 10. 2
" Lot 8, 490 10.3 10.0 7,919 9.8] A 6.7 6, 240 7.7 A 21.2
Xl 82, 807 100.0f A 6.1 81,118 100.0f A 2.0 81, 000 100.0f A 0.1

k2543 A Rk 2643 H R 2743 H H

(AR W (FERR) W (BEHE)

Rogs] R | O SEH Rk | o ol Rk | O
{5 MR e 1, 669 57.1] A 3.7 1,548 54.71 A 7.2 1, 420 53.8] A 8.3
s |IEEHIR 58 118 4.1l A 13.0 109 3.9 A 7.0 95 3.6] A 13.5
3 | EE e 1,120 38.3 8.2 1, 154 40. 8 .1 1,105 41.8] A 4.3
K st 14 .5 15.8 16 .6 13.7 20 .8 19.8
a5k 2,922 3.5 0.2 2, 830 3.5 A 3.2 2, 640 3.3 A 6.7
H{E MR e 2,071 64.3 0.0 2,107 65.8 1.7 1,970 64.6] A 6.5
| SRR e 649 20.2| A 12.5 634 19.8] A 2.4 615 20.2 A 3.1
ﬁ, EIAR FE At 488 15.2 A 11.2 447 14.0f A 8.4 445 14.6] A 0.7
WESS 10 .3l A 185 13 4 28.9 20 .6 48.8
a5k 3, 220 3.9 A 4.6 3,203 3.9 A 0.5 3, 050 3.8] A 4.8




OEEBRB U, AUNC 1 AUESEVEFVEENEEEEOR) CHEPN
%2443 H K LR 254E3 A K %2653 H K I
{bWE S 1,191, 570 1, 184, 560 1,276, 896 92, 336
{bWE S8 AR 642, 118 648, 052 749, 246 101, 194
Bt d T i 656, 228 645, 609 643, 953 A 1,656
7| REMB) R 928, 629 814, 101 708, 922 A 105,179
z SRARMBY £ bR 581, 112 500, 891 436, 181 A 64,710
2 | REAB R S IR 390, 888 352, 653 306, 196 A\ 46, 457
vl FEERER 192, 539 187, 558 167, 368 A 20,190
RAREL 89, 496 97,323 100, 405 3, 082
HiE IR 58 1,115, 369 1,048, 538 1,079, 259 30, 721
)i &l AR 5 895, 658 866, 549 823, 677 A 42,872
77 =T AbBEdh @R 368, 142 418, 267 371, 882 A 46, 385
OIFUTIVEEAREM (12351 Y ) (B 2 19, %)
WRk254F3 A H O Rk 264E3 A H VR
(bt i 2 i 5, 995 2.9 5,823 A 2.9
SR A A SR 5, 487 3.3 5, 568 1.5
)i ik e 4,184 7.0 4,473 6.9
QI7 i VEIRBEF BRI ELE
k2443 A # Rk 2543 H PRk 2643 A 1
94. 1% 100. 2% 104. 9%
SR ERELR - BEENE G4 E 5 )
gk 2543 H # Rk 26423 A # k2743 A #
A (CERD) B CERD B GrE)
R A 3, 375 2,439 2, 850
DA AR H 2 3, 443 2,972 3, 000
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T AVMRIEEE GERA)
(BT : T, %)
k2553 H 1 k26453 H #1 2743 B #
B (EFH) () W (BrHE)
R R | pOvR SEH Rk | o x| R | O
b 46, 721 56. 4 2.0 47,525 58. 6 1.7 48, 200 59. 5 1.4
{1, |52 LRIz 33, 763 72.3 0.4 34, 569 72.7 2.4 35, 400 73. 4 2.4
HE IR 2 29, 875 63.9 3.2 29, 907 62.9 0.1 30, 600 63.5 2.3
an [ (R ST (5,349)| (11.5) 2.2 @618 @] A1 @] 02| A 37
A 3, 888 8.3 A 17.0 4,661 9.8 19.9 4, 800 10.0 3.0
% |78 EE 26, 601 32.1] A 1.6 25, 386 31.3] A 4.6 25, 400 31. 4 0.1
B 55 F s 17, 757 66.8] A 3.0 17, 067 67.2 A 3.9 17,770 70.0 4.1
ET; W& 2 15, 794 59.4] A 5.5 15, 941 62. 8 0.9 16, 820 66. 2 5.5
& |UREEIRE) (2,627) 9.9 A 10.7] (3,183 (12.6) 21.3]  (3,400)| (13.4) 6.6
Sl CESAIE 1, 962 7.4 23.9 1,125 4.4 A 42.6 950 3.7 A 15.6
5t b 9, 484 11.5] A 38.0 8, 207 10. 1| A 13.5 7, 400 9.1] A 9.8
7z |7E BRI 4,007 42.2| A 43.2 3, 757 45.8] A 6.2 3, 440 46.5| A 8.4
D |IREH 4,297 45.3| A 43.8 3, 761 45.8] A 12.5 3, 440 46.5| A 8.5
1l IR ) 60| 6.9 A s2.0 uss)|  G.e)| A 300 0| G| A 45
2 IR A290] A 3.1 — A4l A 01 — 0 0.0 —
GLEES AL, 702 Al, 839 A1, 750
5t b 82, 807 100.0f A 6.1 81,118 100.0f A 2.0 81, 000 100.0[ A 0.1
A |7E BRI 55,528 67.1| A 5.9 55, 393 68.3] A 0.2 56, 610 69.9 2.2
S |IRAE 7 51,670 62.4f A 6.0 51, 450 63.4] A 0.4 52,610 65. 0 2.3
RS EER) (8,631)| (10.4) 1.1l (8,265) (10.2)| A 4.2[ (8,100 (10.0)] A 2.0
2 IR 3, 858 4.7 A 3.9 3,943 4.9 2.2 4, 000 4.9 1.4
ORFEERENDTLHNERGEH)
Rk 2543 A # gk 2643 H # R 2743 H
W (%D W (9 e (GHE)
KA Rk | O KA AL | O AHA Rk | O
IR EARE 8, 631 10. 4 1.1 8, 265 10.2] A 4.2 8,100 10.0f A 2.0
HRFENEHE 9,189 1.1 A 15.4 9, 426 11.6 2.6 10, 100 12.5 7.1
for 1 3,235 3.9] A 4.5 3,225 4.0l A 0.3 3,390 4.2 5.1
BEH 1,554 1.9] A 16.0 1,628 2.0 4.8 1,635 2.0 0.4
BT - FECR 9,113 1.o] A 1.5 8, 858 10.9] A 2.8 9, 020 11.1 1.8
N2 12, 061 14.6] A 4.0 12, 467 15. 4 3.4 12, 580 15.5 0.9
ek 1 AN 2 2,329 2.8] A 4.0 2,120 2.6 A 9.0 2,180 2.7 2.8
Z D 5, 554 6.7 A 9.0 5, 458 6.7 A 1.7 5, 605 .9 2.7
Gt 51,670 62.4] A 6.0 51, 450 63.4] A 0.4 52,610 65. 0 2.3
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Ty N Ba—TFT4vav/ — — — 1| — 1] — — 2
Ty I SNV AINT R — — — 2 — — — — 2
Ty TN ATy Ryay s | — — — — — 1] — — 1
Ty a v 2 5 19 18 8 13 7 11 83
Ty TN A 1 3 14 6 13 11 5 3 56
Ty TN A ] 1 1 8 3 — 4 2 — 19
TRAT —va v - | = | - I e 1 2
T 7 U NARBEA T =T — — — 1 — — — — 1
Z DA, — | - 1y =1 —-—1—-1 -1 - 1
&%t 4 9 42 32 21 30 14 15 167
TTrT=7vav/ 1 1 3 3 1 5 1 1 16
SERNIEHY R
P2 | ARk 224F | ERK234F | FRK244F | FRR254F | TEAK264E | SER2TAR
3AK SARK 3AK 3ARK 3AK 3AX | 3A XK Gtim)
TN Ba—T 4 gy — — — — — 2 12
Ty I SN AINT R — — — — — 2 6
TN AT Yy RiayS — — — — — 1 10
Ty a 14 24 43 61 83 83 80
Ty TN A 93 85 75 70 59 56 41
Ty UTINT R ] 68 65 54 39 26 19 15
TRAT —va v 5 3 3 3 3 2 0
T 7 U NVARBEA T T 1 1 1 1 1 1 1
Z D 3 2 3 3 3 1 1
&&t 184 180 179 177 175 167 166
TTr=7rvav/s 13 14 16 16 16 16 16




